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Basic Statistics : Paper - IV
(New Syllabus)
(SE - 202 B)
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Sample
1 2 3 4 5 6 7 8 9 10
no
1 18 25 23 19 20 19 18 26 26 24
2 22 23 24 22 20 21 19 27 26 23
3 24 22 21 21 24 21 20 24 25 25
4 25 23 22 26 22 20 21 23 24 21
5 2622 20 27 24 19 22 20 24 22

n=4 M2 4, =073,D;=00, =228

n=5 M2 4, =0581;=00D,=211
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ENGLISH VERSION

1 Answer any four of the following. 14

(1) Write any fOllI' fOI'InllIaS Of ﬁndlng !)}-_“ aned [)_\:}'.

(2) In 15 samples, each of having 200 items there
are 304 defective items find LCL and UCL of
np chart.

(3) For np chart CL=42.4 and p=00106. Find
LCL, CL and UCL of p chart.

4 X =34and UCL- =50 and observations are
X =35.37.38.42.41.49,46 . State you conclusions
about production process. Also find 1.CI-.

(5) How many samples of size 2 without
replacement and with replacement can be taken
from the population 2, 4, 6, 8, 10. Write list of
them.

(6) Explain : Systematic Sampling.

2 (a) Draw X and R charts for the following data 8
and your conclusion.
Sample )
1 2 3 4 5 6 7 8 9 10
no
1 18 25 23 19 20 19 18 26 26 24
2 22 023 24 22 20 21 19 27 20 23
3 24 22 21 21 24 21 20 24 25 25
4 25 23 22 26 22 20 21 23 24 21
5 |26 22 20 27 24 19 22 20 24 22
n=4 for 4, =073,D;=0,D, =228
n=5 for 4,=0580D;=00,=211
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Give the difference between the charts at 6

variables and ch arts for attributes.
OR

Write short note on theory of runs.

For a control chart (/7. =4012 and 6
X =30.12. Find LCLy . Ten different values of

y are 21, 27, 28, 36, 33, 32, 37, 35, 32, 28.

give your report about the state at control at
the process.

State whether the following statements are

(1) True of false correct them if they are 2

false.
X=12 UCL=18 and 1CL=24

(2) The following process is not under 2

control

X =34 UCL; =50 LCLy =18
Observations Y =35.37.38.42 41,49 46.

Ten samples each at 100 items are drown 6
from a production process. The number at
defective items in the samples are respectively
12, 10, 0, 15, 5, 7, 13, 10, 9, 11. Draw an
appropriate chart for the data and give your

conclusion.
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(b) Draw C - chart for the following data. 4 4 (a) Write utility of study of regression. 6
(b) Find the regression coefficient from the 8
Groupno 1 2 3 4 5 6 7 8 9 10 11 12 .
following data.
Defects 33 6 3 01 3 5 7 8 410
(¢) Write short note on P and np charts. 4 .
OR x |25 30 35 40
3 (a) 15 samples each of 100 items were taken from 6 2008 3 - -
a production process and the numbers at 3012 5 2 2
defectives in each samples was recorded as 401- 2 9 6
follows : 4,5 3,2 5 3 2 1,2 3,5 0, 5 3 N0l=- - 5 6
2. Draw fraction defective chart for these data g g
= 3 . ) .
and state four conclusions about the control at 2 2 5 (a) From the observations at a population are 8
production process. g é 10, 12, 14, 18. How many random samples of
(b) Draw suitable chart for the following data. 4 € < size 2 (1) without replacement and (2) with
=3 =3 o B . .
Growpno |1 23 45 6 7 8 9 10 11 12 13 14 15 C'E C’E replacement can be taken ? Making a list at
Noofdefeets [3 3 6 3 0 I 3 5 7 8 4 10 5 5 3 % 5_ all the possible samples. Varify (1) ;(;)___;
= =]
(¢ Give the illustrations in which C-chart can 4 o o (For Both methods)
G
be used. 5 = (b) Explain briefly : 6
(1) Random sapling,
4 (a) Write properties of regression co-efficients. 6 (2) Stratified random sampling.
(b) Find the two regression lines and estimate 8
x when y=50 and y when x=30.
x oy
Average 25 40 lati ik
Variance 9 36 Correlation coefficient = 0.8
OR
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